—

i

-

P

TS r L e

0T qars AT o oad i RiER] taﬁ:v%ﬁfz qﬁ;\*;érﬁre
1, 4 gfyar < 28 [gREar|  0.40 1
0»(]3?#24_’_
2 5 T3 9, i 70 [gREET| 0.02%'5 = 1
g 0 053]!40
9 8 THR ATeg 42 LEl 1
| 0.037
o g | T SR, wfe—cra 60 |afer| g.p0v5 1
0'053:’;{40
9 W 9T greg 32 el 1
11 w0 VT 2T 22 | gy 1
0.0]?.:'?2_1_
= Rrd= areg
o ’ 38/45 __
Y| Pt | 3| 00Me- | g
00] 1137120
3t S{E{Eﬁrﬁ | 00172
dear (BET) YR Ared 30 | gRem| 0,0% = 1
’ 0.01”3”20
/ 0.017%4
2 IRIeT Aredo 26 | gRamT| 0,074 = 1
0.01 1134120
MO SR, TR 0.09™+
: S 80 |3Rewm| 0.07%= | 4
Aw 0 l7|9!40
2 ¥R gieq 55 3 1
WRYaR ey 35 e 1
0.19%+
ARAI0 g, gf—
. mq% B 80 |gREar| 0.15% = 1
o 0.35%%
/{’u : 70 65 |uway -
@1/1‘;’ NHOY gTeg 24 AT 1
& AT 55 | o= 1
ety eIy Arey 24 qrer 1
i 5 TS AR AT A EE 1
qeril areT 46 Kl 1
T UTeT,
e eam areg 55| 3| g.9% 1
/T qreq 30 Eg 1
0.16 +
Tt <Y, Gf—atrer 0.11% +
Iﬁ?"’f m 59 -ﬂ%m 0'053”5 1
: = (,3253/60
ﬁﬁ? qreq 40 g 1
SR R 30 | gx 3

HIST—~3Ra, T %043, T—d=awT, Rrer—areer |




HT—ATNEP, AT H0—43, e—aaany, Rren—arewr|

wO%0 | VETE A suad ¥ | W™ qﬁug,;w‘gﬁe qﬁ:;gmgﬁz

JAew 71T, e 0.06""+
, - 55 'ﬁﬁ?ﬂ 0.0575 = 1

ared 0] 153!60

fireeT 2, TR . || oo
s 67 |aRaar| 0.05%" = 1

ared 3 0l07i9!30
fearer area 31 I3 1
feum FAR T 23 | 9 1
3 g 1> = 'm: Ssiat il P aRaam|  0.30 1
€99 aed 70 LGl 1
s | @ |0 &mﬁ_m 60 |aRemmr| o0.14 .
HETRq Ted 38 e 1
fasrg aea 30 kgl 1
JMEF FAR 24 E! 1

-
s |em| T zm sl qfear|  0.12" 1
wrg a7ed, e 33 |"gfEar| 0.12' 1
"%‘\ | WEd 70 | fomr 1
Ty f_\ Gﬂ:m% A
T ‘;iii‘e"i'-"”:ﬂ 6. | 97 w S 67 |gREar| 0.11*° 1
e @ .
» E I 28 el 1
T Fred 25 el 1
Gl AT 24 Ll 1
0 TEA! 65 |¥"Raar| 0.11%° 1
THTER U 40 | 9 1
YR q1ed 22 qraT 1
9 area, -
i 45 |gfEmr| 0.11% 1
. goral <dl 42 T~ 1
7 |ow THAT 241 50 |#Ra@i|  0.08 1
= 1/4
- el A : 2 94| 47




